>>>>>>>>>>> o] 7EC| MA HalE

EEF 2
A\
AHLXm}
©CO0F L
A0} B1A

AOZ HIRLE >>>>>>>>>>>



| CHAPTER 2

A9} BHA

v 21 Hy

2.2 &




A olATIOIA

_ Namespace
Variable
ol s
Z2 O A S0 M7= A e Binding
55 AMDIHON S50 ALRSE7| SIsHA X ——>-
NGBS = iy A o

— 1 HA




-
KNZ=
Assignment

<tps = <Als



-
KNZ=
Assignment

<tps = <Als

EXxpression



-
NESES
Assignment

<His = <Al

/

Variable EXxpression



NP R QAT 0] A
Assignment Statement

\/ X =3+4




NP R QAT 0] A
Assignment Statement
v x=3+4

l o
ALk




S =
(= Lm
Assignment Statement

v x =3

+ 4

1

8\ |
J/

!



X

v X

8=

Assignment

3+ 4

X + 2

| 22 0[0] A

[



X

v X

8=

Assignment

| 22 0[0] A

[



NP R QAT 0] A

Assignment




NP R QAT 0] A
Assignment

x=3+4
X =X + 2 .

v/ x = "Freedom"

-



Dynamic Binding
S Hiolg

Static Binding
Java A HI2IS



Static Binding

A HiQILd

v int x

| 22 0[0] A



Static Binding

A HiQILd

v/ int x x ——[ ]

| 22 0[0] A



Static Binding

A HiQILd

int X

| 22 0[0] A

1nt
X —————>



Static Binding

A HiQILd

int X

| 22 0[0] A

int
X —————>



Static Binding

A HiQILd

| 22 0[0] A

1nt
e



Static Binding

A HiQILd

int x
X =3+ 4

v, X=x+2

| 22 0[0] A

1nt
e



Static Binding

A HiQILd

int x
X =3 +4
=X + 2
l@
HIAH

| 22 0[0] A

1nt
e



Static Binding

A HiQILd

| 22 0[0] A

1nt
=[]




Static Binding

A Hieolg
int X XL»-III
X =3+ 4
X =X + 2

v/ x = "Freedom"

| 22 0[0] A




Static Binding

A HiQILd

int x
X =3+4
X =X+ 2
v/ x = "Freedom" x

| 22 0[0] A

int
[



NP R QAT 0] A
Assignment
X =3+ 4 .

X =X + 2

X = Freedom"

v print(pooh)

-




NP R QAT 0] A
Assignment
C =344 .

X =X + 2

X = Freedom"

v print(pooh) x

-

=



CH =X} A-Z susieQ

XL 0-9 korealst
LSEA python_programming

0|2 : =KX= A|Zrel = QIS 1stKorea




susieQ

A-/

4§.

L2 0] 7=

korealst

0-9

python_programming

1| d

KL
gl

1stKorea

Python coding convention

AL
——
A

ol<f :







math




74

SelE

IDE

Integrated Development Environment
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SERYLEN —

Standard Input

X = input()
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The area of a circle with radius 3.0 is 28.3
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Enter the number of coins you have.
500 won? 4
100 won? 2

50 won? 3

10 won? 4

You have 2390 won in total.
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Keywords

Reserved Words

False
except

return
def

NnotT

awailt
1n
and
from

with

else
raise
continue
nonlocal

async

1mport
True
for

while

eli1f

PASS
class

lambda
assert

if

None
finally
try

del

or

break
1S

as
global
vield
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Comments

code : 2-10.py

# Calculate the area of circle

# 1n: radius from standard 1nput

# out: area of circle to standard output

radius = float(input("Enter the radius: "))

from math 1mport pi

area = p1 * radius ** 2 # calculate the area of circle
print("The area of a circle with radius", radius, "is", area)
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Fahrenheit to Celsius conversion

Degrees in Fahrenheit? 67
19.4 degrees in Celsius
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Built-in Function

print(), 1nput(), 1int(), float(), str(), round()



abs () delattr(Q hash() memoryview() set()

allQ dictQ help() min() setattr()
any() dirQ) hex() next() slice()
asci1() divmod() 1d0) object() sorted()
bin() enumerate() oct() staticmethod()
boo1 () eval ) open()
breakpoint() exec() 1sinstance() sum()
bytearray()  filter() issubclass() pow() super ()
bytes() iter() tuple()
callable() format() len() property()
frozenset() 1ist() range() vars(Q)
classmethod() getattr() locals() repr() zip(Q
compile() globals() map () reversed() __1mport__Q)

complex() hasattr() max ()
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radius: math.pl * radius ** 2
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lambda (HF) @ (&)

lambda radius: math.pl * radius ** 2
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lambda (HF) @ (3]

lambda radius: math.pl * radius ** 2
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lambda radius: math.pl * radius ** 2
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(Llambda radius: math.pi * radius ** 2
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Function call
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code : 2-17.py

def coin_in_total(c500, c100, c50, c10):
return None # Write your expression here.

# Test code
print(coin_in_total(4,2,3,4)) # 2390
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code : 2-18.py

1| def fahrenheit2celsius(f):

2 return None # Write your expression here.

3

4| # Test code

5| print(fahrenheit2celsius(67)) # 19.444444444444443
6

print(round(fahrenheit2celsius(67),1)) # 19.4
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18

81

40

59

307

692

9142

857

9965

34
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code : 2-19.py

1| def complement_nine(n):

2 return None # Write your expression here.

3

4| # Test code

5| print(complement_nine(0)) # 9

6| print(complement_nine(9)) #0

7| print(complement_nine(4)) # 5

8| print(complement_nine(18)) # 81

9| print(complement_nine(40)) # 59
10| print(complement_nine(307)) # 692
11| print(complement_nine(9142)) # 857
12 | print(complement_nine(9965)) # 34
13| print(complement_nine(9999)) # 0
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